Computer Science I Exam #1 February 8, 2010
First Name: _______________  , Last Name: _________________

1) (12 pts) Write out all the permutations of “ABCD” in the order in which these would be printed by the recursive permutation algorithm shown in class:

1. ________     5. ________     9. _________     13. ________      17. ________     21. _________

2. ________     6. ________   10. _________     14. ________      18. ________     22. _________

3. ________     7. ________   11. _________     15. ________      19. ________     23. _________

4. ________     8. ________   12. _________     16. ________      20. ________     24. _________

2) (15 pts) In class we wrote a recursive function that printed out the corresponding binary representation of an input value given in decimal. For this question you will do the opposite task. You will write a recursive function that takes in a binary number encoded as a string of ‘0’ and ‘1’ characters only with a leading character of ‘1’, along with the string’s length and return the value of the number in base ten. Hint: Notice that if we look at the binary number 1011, it can be broken down into two components: 101 (rest of the digits) and 1 (last digit). To build the decimal equivalent of 1011 from these two components, simply calculate 2x5 (decimal equivalent of 101) + 1 (last digit of 1011). The prototype is provided below:
int binToDec(char binString[], int length) {

}

3) (10 pts) Write a recursive function that searches for a given value in an unsorted integer array. Return 1 if the value is found, 0 otherwise. The three input values to the function are the array, length of the array, and the value for which to search. Fill in the prototype given below:

int search(int array[], int length, int value) {

}

4) (8 pts) Convert AE9F16 to binary. Put a box around your final answer.
5) (10 pts) Convert 72549 to base 7. Put a box around your final answer.
6) (12 pts) The following struct can be used to store information about a student:

struct student {

  char first[20];

  char last[20];

  int* grades;

};

The last item of the struct is meant to be a pointer to a dynamically allocated array of ints that stores test scores.
Write a segment of code that asks the user to enter two positive integers:

1) n, representing the number of students

2) m, representing the number of tests each student takes.

and allocates space for a dynamically allocated array of size n of struct student, where each student has space to store exactly m test scores.

Note: You don’t need to initialize any of the allocated space, you just need to allocate it. 

The beginning part of the code segment is given to you. Declare any extra variables you need.

int n,m;

struct student* studList;
printf(“How many students do you have?\n”);

scanf(“%d”, &n);

printf(“How many tests have they taken?\n”);

scanf(“%d”, &m);

7) (10 pts) Free the memory allocated to studList in the previous question.

8) (10 pts) Write a recursive function that prints out the items in a linked list in reverse order. The struct and function prototype are given below:

struct ll {

  int data;

  struct ll* next;

};

void print(struct ll* list) {

}

9) (10 pts) Write a function that takes in a pointer to a linked list and an integer that represents a threshold value, and returns the number of values in the linked list greater than the given threshold value. Fill in the prototype given below:
int numAboveVal(struct ll* list, int threshold) {

}

10) (3 pts) MSN released a list of “10 worst foods to eat while driving.” At number 3 on this list was an item typically bought at Taco Bell. Which item is this? (Note: #1 was coffee and #2 was hot soup.)
_________________________
